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Figure 1: Leading vs sub-leading mass distribution



2} E
5250— —+
[
s L —+ STAR pp s =510 GeV
C —4-Data E
200~ Background 1400
r — Background fit 1200 ; —+—
150~ I 1000/~ "
E = ——
100 F
n 600 ——
so—— 400
r E -
) S Y O A OV S W ol v b b L L L T g L
0 005 01 015 02 025 03 035 04 045 2 4 6 8 10 12 14
pT™* [GeV] # TOF clusters
a2 r o F
g F g 140
& 50 3 STAR pp Vs =510 GeV
L ~+-Data 1201~
C Background C
20— — Background fit 100—
15 80— |
z +
10— =
r 20
& F -+
: 2of- +
) T I B S I W I e o) P Y I S PR M. [
0 005 01 015 02 025 03 035 04 045 0 2 4 6 8 10 12 14
me\ss [Ge\/] # TOF clusters
9., a F
2240 2
g F g —+
3220 4 STAR pp s =510 GeV
200 - Data 1400
180; Background F
160 ; — Background fit 1200 :7 o .
140 —‘L 1000~
120 =
100E- sooE -
80| 600 Y
60 400
40— —_
205 200~
E = —
of P P AN I PR N o Y N SO = SO IR
0 005 01 015 02 025 03 035 04 045 0 2 4 6 8 10 12 14
pT™* [GeV] # TOF clusters

Figure 2: p}”iss GeV and Ngjyster, CUTS: narrow mass window, DCA < 1.5
cm, dgogo < 0.3 cm
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Figure 3: Leading vs sub-leading mass distribution, CUTS: pi%® < 0.15 GeV
and Neyster < 9, DCA < 1.5 cm, dgogo < 0.3 cm
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Figure 4: Conditional mass distributions, CUTS: pZ
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Figure 5: KOKO mass, CUTS: p¥*¢ < 0.15 GeV and Neysier < 9, DCA < 1.5

cm, digogo < 0.3 cm, narrow mass window

|
1 1.5 02

T,

My o0 [GeV]

3



60—
» STAR pp Vs =510 GeV

50—

events
T

40—

T 4 +
1
10; +‘+‘ ++_+_

0 lllllllllllll_’_‘lllllllllllH_l_*_‘*_llllll
0 0.2 04 06 08 1 12 14 16 1.8 2

pT, KK® [GeV]

events
T

10— STAR pp Vs =510 GeV

0 111111111111111111111 ! 111111

0 02 04 06 038 2 2
T, KK° [Ge\/]

50—
B STAR pp Vs =510 GeV

events

40

30?
20F +

1
o +++++

Ok 11 l |- — l L1 l L1 l L1 l I - l |- — l 1 |_+_‘_+_l 1 l L1
0 02 04 06 08 71 12 14 16 18 2
P, o0 [GEV]

Figure 6: KOKO pr, CUTS: p7*s¢ < 0.15 GeV and Nepyster < 9, DCA < 1.5
cm, digogo < 0.3 cm, narrow mass window
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Figure 7: KOKO n, CUTS: p*¢ < 0.15 GeV and Nepyster < 9, DCA < 1.5 cm,
drogo < 0.3 cm, narrow mass window
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Figure 8: DCA, CUTS: narrow mass window
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Figure 9: R, CUTS: narrow mass window, DCA < 1.5 cm, dgogo < 0.3 cm



